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Dividing by 1 and Dividing a Number by Itself
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422  = 1 ÷ 422  XY
700  = 1 ÷ 700 �

26  = 1 ÷ 26 Z

39  = 1 ÷ 39  X!
3  = 1 ÷ 3 4
8  = 1 ÷ 8  1
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1  = 513  ÷ 513 XY

1  =  920  ÷  920  �
1  =  25  ÷  25 Z

1  =  62  ÷  62  X!
1  =  7  ÷  7 4
1  =  4  ÷  4 1
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6  = 1  × 6 @8 
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1  = 58 ÷ 58 XY 15  = 1 ÷ 15 Z 2  = 1 ÷ 2 4

1  = 294 ÷ 294 � 47  = 1 ÷ 47  X! 1  = 90 ÷ 90  1

 
H�� �� �<
 �R��
� �& �R�	 N.�� �S 17 �+ �� �~�0 �H�M�� , 3� �K @� �� �� 3H�� ��4 � �� �>�% 
� _/ �0 �& 
8�,�W �� �� �R�) ���	  4
? �� �V�% 
� k/ �0 
J�� �� �� �/ �? �x�� �G 
 N� �� �� �� �V �& ;}���@,	�
�

?� ÷ � ,1 ÷ � �9�� �� 
F.
, �i 
s
 �� 
J�W @M	
 �J �Y ��4 �� : e��,�%
, �G
� e/�� ����  5

1 = 8 ÷ 8

1 = 18 ÷ 18 ¡18 = 9 × 2
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